o

#

dl
H
it

EIfEREBERARFISHRETE (F15) E

EFROBERZRET D,

S A 12 A 3 A

fE A ES VAR F = x R #H X






5 Fn oo A5 2E

E 3 R R R R R RS A
i 1IE T B (F 1 =)






ST EE T ERERRREN M ETRE (B15)

THEEEOLIES (PR3 1THEBSE 1 435) OMiTictEvy, TFEk 3 14 EE i E
REEFEARENSHTHEH] 04 K% (Do EEZHEREBERREN S FHE) &L,
FHEICBTD FERI1TEE] OXRZTICOWVWTIT TFFMILERE] 1T, TERRS3 248 L
BOFEORTLICOVTIITMOMY T 2FECHABRRAD D LT D,

BT EEN T O ERBRERRSFNSHMAETE (F15) X, KICEDDLIEIAILX
%

F

(e A ik T 55 o Al 1E )

AR TFEORBICHEARHB TN ZENS, STTTHEZHAL., mARHETHEORE
WA EN TN, 424,448 F & T 5,

2 WABHTEOMEOKED X K OYLK S I & ORI O E% O AR 75
OeFIT. THE1IR BRARETEME] X5,

R

1

B

P

SFICHE1 2 A 3 HEEH

HORCHR [E S R koOROH K



Gk w Ak P R Of IR
% A
K H i IE ATAH i IE % I EL %
3. EE 4 Tim 2, 32T4Pq 2, :32?5Pq
2. [EEEAHB) 4 1 2, 324 2, 325
7. KRB 1 1,053 1,054
1. 4 1 1,053 1, 054
% ey 7,421,071 3, 377 7,424, 448




A
* 5 fHIE R4 i 1E %A IR KA
o TH TH TH
1. W5 105, 766 3, 377 109, 143
AT PRy 91, 467 3, 377 94, 844
I3 & 2 7,421, 071 3, 377 7,424, 448







5 Fn S AR R

[E] 3 7 [ R RE R bR B = R
WMIETH (B 15) SiHE



* g

\Ab
e ~—

i
g
&
=
£| ¢«
A
| E
<
#2
4
H
W |
B |




= oHE BB M &

#OIE BT % 1 iE %A W E %
1 T 2,324 TH 2,325 TH
1 2,324 2,325
1 1,053 1,054
1 1,053 1,054
7,421,071 3,377 7,424, 448




)
N H fiOIE AT AR A
1 M
W E 105, 766 3,377
1. MEEHE 91, 467 3,377
% = 7,421,071 3, 377




e E R

® OE % @ s oW
HEiEXH4 | & % H & SO

FH FH : FH

109, 143 2,324 1, 053

94, 844 2,324 1, 053

7,424, 448 2,324 1, 053




2. m A
() 3. [FH < 4 () 2. [EJH A&

# H ‘ o ‘ o
woOIE mr %E i I FA woOE % %
|’ H

TH FH TH
3. EHEXZH4 1 2,324 2,325
2. [EERBIA 1 2,324 2,325
2. [E ERAERECRRR T B BATR E T FE MBI 4 0 2,324 2,324
7. &4 1 1,053 1, 054
1. a4 1 1,053 1, 054
1. s 1 1,053 1, 054
I3 A & B 7,421, 071 3,377 7,424, 448

( 10 )



W OE @ i BA
IN g
= G I %% %)
M TH
. [ R R B il 2,324 L. [ R E B R B F A& 2,324
PR B F LA | ( 2,324)
B4
. B 4 1,053 1. RiERE k4 1,053
( 1, 054)

() 7. K

() 1. fl




3.k H
) 1R (IH) 1. REEEE
# (## 1E A7 %8) /MioE ¥ OB o8 o MO "N §R
o IE %A 53 E i i ene
i | 5 T %) ERETe] BEne (B R ] 2o m | OOk
TM T T TM T TM
1. WBEE 105, 766) 2,324 1,053
3, 377
109, 143)
1. RBE 91, 467) 2,324 1,053
3, 377
94, 844)
1. —E 89, 284) 2,324 1,053
3, 377
92, 661)
_________________________________________________________________________________________ 1,083
__________ 2824
7,421,071)
% o & F 3,377 2,324 1,053
7,424, 448)

(12 )




N wWOE % B Bl
© 7 EEm)
TH LR
2. ekt A500
( 32, 155)
3. BBEFYU%E 1,753
( 24,868)| 1. BEAGEE [EEEEER] <1500100> 1,053
4. HLFEE A200 ( 2. %880 A500 )
( 10, 906) 2. —fBeHE A500
13. ZRERt 2, 324 — IR E B 9 A A500
( 5,152) ( 3. B FHH) 1,753)
2. B FY 1,753
WIRFY A500
RFRI S TS 24 2,253
(4. HLHFE) A200 )
L EFHAEaHe A200
LEHEAHEE 9N A200
2. BEREBE [BEEER] <1500200> 2,324
(13. Z508 2,324)
17. AT b3 2,324
[E RBEFERE O A T 2BUE TR 2, 324

) 1. G

(13 )




WG B E
— fix W%k
1) % K
v e i 2 # e
R HeR o % M| mEFLm E R
) (TM) GRED (M) GRE)D GRED
WoIE # 9 32,155 24,868 57,023 10,906
WO1E mi 9 32,655 23,115 55,770 11,106
=4 i 0 /\ 500 1,753 1,253 A 200
% 4 BRETFY Hh gk T 24 EEFY (=D HEa eI EE 24
F F (G (G)) (G
Tk B F 4 i IE # 192 5,059 180 880 3,827
DN R i 1E B 192 5,059 180 880 1,574
4 Ly 0 0 0 0 2,253




o
{1l

fi =
Gl))
67,929
66,876
1,053
RIS T4 i) T MR F M B Tk T Y
) 1) CFM) (@)
748 13,982
748 14,482
0 A 500
( 15)




(2) #akH& OV B T3 O HER O B

X ﬁj\t% Jk %A HOM B BN ER
(FH) (FH)
G- By
W SE A I EEY BN 4y
i £ A500
Z DO IEN Sy A500
) B T TR AT D B R 4
e FY 1,753
Z DM OEEI Sy 1,753

( 16 )




i ] i}

T BRSO BN LD
A500 FH

Tk B S D ZE BN Z L D18y

A500 T
IRE [ A BB IRE R B DG I L D8 4y
2,253 +H

( 17)



